
CHEMISTRY

JEE MAIN AND ADVANCED

CLASSIFICATION OF ELEMENTS AND

PERIODICITY IN PROPERTIES

Example

1. Eka-aluminium and Eka -silicon are known as

:

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ciYv1faLgP4o


Watch Video Solution

2. What would be the  name and

symbol for the element with atomic number

?

Watch Video Solution

IUPAC

120

3. How would you justify the presence of 18

elements in the 5th period of the Periodic

Table?

https://dl.doubtnut.com/l/_ciYv1faLgP4o
https://dl.doubtnut.com/l/_qyC01k331JEK
https://dl.doubtnut.com/l/_7IcA8id6GvVi


Watch Video Solution

4. On moving across the period in the p-block

what is expected to the oxidizing power of the

elements ?

Watch Video Solution

5. The elements  and  have not yet

have been discovered, In which family group

would you place these elements and also give

the electronic configuration in each case.

Z = 117 120

/

https://dl.doubtnut.com/l/_7IcA8id6GvVi
https://dl.doubtnut.com/l/_u9ZGVnnzhSiW
https://dl.doubtnut.com/l/_u3G1bIahkcbC


Watch Video Solution

6. Considering the atomic number & position

in the periodic table, arrange the following

elements in the increasing order of metallic

character: .

Watch Video Solution

Si, Be, Mg, Na, P

7. Which of the following species will have the

largest and the smallest size

https://dl.doubtnut.com/l/_u3G1bIahkcbC
https://dl.doubtnut.com/l/_Bb2HdGVQL17R
https://dl.doubtnut.com/l/_S5xXNHqunwYH


?

Watch Video Solution

Mg, Mg2 + , Al, Al3 +

8. On the basis of their positions in the

periodic table which among the following will

have the largest atomic radii ? 

Be, N, O, Ne

Watch Video Solution

https://dl.doubtnut.com/l/_S5xXNHqunwYH
https://dl.doubtnut.com/l/_QTHwjpAtFaQ1


9. The first ionisation enthalpy 

values of the third period elements, 

and  are respectively  and 

. Predict whether the first 

 value for  will be more close to 

or ? Justify your answer.

Watch Video Solution

(ΔiH
o− )

Na, Mg

Si 496, 737

786kJmol− 1

ΔiH
o− Al 575

760kJmol− 1

10. Which of the following will have the most

negative electron gain enthalpy and which the

https://dl.doubtnut.com/l/_sAU420kXLYCa
https://dl.doubtnut.com/l/_pWHTbCAxlcDY


least negative? . Explain your

answer.

Watch Video Solution

P , S, Cl, F

11. Fluorine is more electronegative than

chlorine. Is the statement true ?

Watch Video Solution

12. Using the perodic table, perdict the

formulas of compounds which might be

https://dl.doubtnut.com/l/_pWHTbCAxlcDY
https://dl.doubtnut.com/l/_sno28VYrYu9P
https://dl.doubtnut.com/l/_2K39v5JqqrB5


formed by the following pairs of elements : (a)

silicon and bromine (b) aluminium and

sulphur.

Watch Video Solution

13. Are the oxidation state and covalency of Al

in  same ?

Watch Video Solution

[AlCl(H2O)5]
2 +

https://dl.doubtnut.com/l/_2K39v5JqqrB5
https://dl.doubtnut.com/l/_GOa259MWgUuq


14. Show by a chemical reaction with water

that  is a basic oxide and  is an

acidic oxide.

Watch Video Solution

Na2O ClO7

15. The elements eka aluminum and eka sillicon

named by Mendeleev known today as

Watch Video Solution

https://dl.doubtnut.com/l/_SDE0NixU8okz
https://dl.doubtnut.com/l/_gl5Jt47FhZXy


16. What would be the  name and

symbol for the element with atomic number

?

Watch Video Solution

IUPAC

120

17. How would you justify the presence of 

elements in the  period of the periodic

table?

Watch Video Solution

18

5th

https://dl.doubtnut.com/l/_DvByZ9LeBMgm
https://dl.doubtnut.com/l/_XtLhncsVYzCI
https://dl.doubtnut.com/l/_dom2AD10y4Ei


18. On moving across the period in the p-block

what is expected to the oxidizing power of the

elements ?

Watch Video Solution

19. The elements and  have not yet

been discovered. In which family/group would

you place these elements?

Watch Video Solution

Z = 117 120

https://dl.doubtnut.com/l/_dom2AD10y4Ei
https://dl.doubtnut.com/l/_0PcVwXuyaU6G
https://dl.doubtnut.com/l/_rUvlPMZCnhic


20. Considering the atomic number & position

in the periodic table, arrange the following

elements in the increasing order of metallic

character: .

Watch Video Solution

Si, Be, Mg, Na, P

21. Which of the following species will have the

largest and the smallest size

?

Watch Video Solution

Mg, Mg2 + , Al, Al3 +

https://dl.doubtnut.com/l/_rUvlPMZCnhic
https://dl.doubtnut.com/l/_A8SETYJXK58l
https://dl.doubtnut.com/l/_xr6gU1XnsO8X


22. Which among the following elements has

the largest atomic radii ?

Watch Video Solution

23. The first ionizatioon enthalpy  values

of the third period elements , Na m Mg and Si

are respectively 496 , 737 and 786 kJ/mol .

Predict whether the first  value for AI will

be more close to 575 or 760 kJ / mol. Justify

your answer.

Watch Video Solution

(ΔH)

ΔH

https://dl.doubtnut.com/l/_xr6gU1XnsO8X
https://dl.doubtnut.com/l/_Br9ppGMGkUqu


24. Which of the following will have the most

negative and the least negative electron gain

enthalpy ? 

P,S,CI,F . Explain your answer.

Watch Video Solution

25. Fluorine is more electronegative than

chlorine. Is the statement true ?

Watch Video Solution

https://dl.doubtnut.com/l/_Br9ppGMGkUqu
https://dl.doubtnut.com/l/_jIVBDUT9oX7m
https://dl.doubtnut.com/l/_8Jf0WVXZ3gio


26. Using the perodic table, perdict the

formulas of compounds which might be

formed by the following pairs of elements : (a)

silicon and bromine (b) aluminium and

sulphur.

Watch Video Solution

27. The oxidation state and valency of  inAl

[AlCl(H2O)5]
2 +

https://dl.doubtnut.com/l/_8Jf0WVXZ3gio
https://dl.doubtnut.com/l/_rKu3CBGihYfz
https://dl.doubtnut.com/l/_DK88dc8OfGDD


Try Yourself

Watch Video Solution

28. Show by chemical with water that  O is

a basic oxide and  is an acidic oxide.

Watch Video Solution

Na2

CI2O2

1. What were the 12 horizontal rows known in

the periodic table prepared by Mendeleev ?

Watch Video Solution

https://dl.doubtnut.com/l/_DK88dc8OfGDD
https://dl.doubtnut.com/l/_I4hLtw9c4ZNQ
https://dl.doubtnut.com/l/_gsUFnM3FPgPu


2. Name the German chemist who classified

the elements using the physical properties

such as melting point, boiling point, atomic

volume, etc.

Watch Video Solution

3. What would be the IUPAC name and symbol

of Bohrium with atomic number 107 ?

Watch Video Solution

https://dl.doubtnut.com/l/_gsUFnM3FPgPu
https://dl.doubtnut.com/l/_9kdnRgD4FyVy
https://dl.doubtnut.com/l/_fXqIMdoqssQw


4. IUPAC symbol of atomic number 119.

Watch Video Solution

5. What is the position of lanthanide and

actinide series in the periodic table ?

Watch Video Solution

https://dl.doubtnut.com/l/_fXqIMdoqssQw
https://dl.doubtnut.com/l/_iiB6CdhsC7h9
https://dl.doubtnut.com/l/_mKbB6VKI0ZVU


6. How many elements can be there in the

third period ?

Watch Video Solution

7. Do the non-metallic character exhibited by

the halogens have any relation to ionization

enthalpy ?

Watch Video Solution

https://dl.doubtnut.com/l/_bTuRvW4rWQK9
https://dl.doubtnut.com/l/_qJkboQeZ5NP1


8. Why s-block elements act as strong reducing

agenis ?

Watch Video Solution

9. Find the position of element with atomic

number 35 in the periodic table

Watch Video Solution

10. What are transuranic elements ?

https://dl.doubtnut.com/l/_BayTLZKKPYzX
https://dl.doubtnut.com/l/_wbxkqNCQgqV7
https://dl.doubtnut.com/l/_YZSlqFbY0C05


Watch Video Solution

11. Out of the following elements which is the

most non-metallic ? 

Na, Mg and Al.

Watch Video Solution

12. Pick the metalloid among the following

given elements. 

P, S, Si, Al.

https://dl.doubtnut.com/l/_YZSlqFbY0C05
https://dl.doubtnut.com/l/_RSuIuzUpoqkl
https://dl.doubtnut.com/l/_h4h9eYSJWY3J


Watch Video Solution

13. Describe the trend of atomic size along a

period 

and a group in the periodic table.

Watch Video Solution

14. What will be the atomic radius of fluorine

atom of a covalently bonded fluorine molecule

with internuclear distance 128 pm ?

Watch Video Solution

https://dl.doubtnut.com/l/_h4h9eYSJWY3J
https://dl.doubtnut.com/l/_PaaOehBu5g7q
https://dl.doubtnut.com/l/_Git68cNNSZGZ


15. The internuclear distance between adjacent

chlorine atoms of the two neighboring

molecules in the soild state is  pm. Thus,

the van der Waals radius of chlorine atom

is_______.

Watch Video Solution

360

16. Arrange the following elements in the

order of increasing atomic radius N, O, F and

https://dl.doubtnut.com/l/_Git68cNNSZGZ
https://dl.doubtnut.com/l/_iHpYBOxj9LxF
https://dl.doubtnut.com/l/_B6VzlXtqxQKO


Ne.

View Text Solution

17. For which element the second ionization

enthalpy is expected to be greater, N or O ?

Watch Video Solution

18. What is the expected order of ionization

enthalpy for the given elements Li, Na, K and

Rb ?

https://dl.doubtnut.com/l/_B6VzlXtqxQKO
https://dl.doubtnut.com/l/_FhVdipt9ydhB
https://dl.doubtnut.com/l/_UmXss1080vvs


Watch Video Solution

19. Which among the following elements will

have a positive electron gain enthalpy ? B, C, N,

O.

Watch Video Solution

20. S has more negative electron gain enthalpy

than O why ?

Watch Video Solution

https://dl.doubtnut.com/l/_UmXss1080vvs
https://dl.doubtnut.com/l/_HQWhIx6MCPkJ
https://dl.doubtnut.com/l/_yE1kXaUAm0yg


21. Is the electronegativity of an atom is

constant ?

Watch Video Solution

22. It out of two given elements A and B, A has

a higher ionization energy than B, which

element is expected to be more

electronegative A or B ?

Watch Video Solution

https://dl.doubtnut.com/l/_yE1kXaUAm0yg
https://dl.doubtnut.com/l/_iUionw5hJCbJ
https://dl.doubtnut.com/l/_058S2TVmNCSf


23. What would be the formula of the

compound formed by A and B, where A has the

valence 3 and B has the valence 3 ?

Watch Video Solution

24. An element M combines with a halogen Cl.

What would be the formula of the compound

obtained if M has a valence of 2 ?

Watch Video Solution

https://dl.doubtnut.com/l/_b0Hcr9aGy51X
https://dl.doubtnut.com/l/_cHJzDmZ0MYkr
https://dl.doubtnut.com/l/_V3Q6Ws3aqlqA


25. What is the covalency of B in 

and its oxidation state ?

Watch Video Solution

[B(OH)4]

26. What happens to the oxidation state of the

elements of the second moving from left to

right with respect to their oxides ?

Watch Video Solution

https://dl.doubtnut.com/l/_V3Q6Ws3aqlqA
https://dl.doubtnut.com/l/_TQXc1yDt7fx1


27. What is the nature of  ?

(Acidic/Basic)

Watch Video Solution

Al2O3

28. Show that the nature of  is acidic.

Watch Video Solution

SO3

29. What would be the IUPAC name and symbol

of Bohrium with atomic number 107 ?

https://dl.doubtnut.com/l/_Ljt4ck1w9RkK
https://dl.doubtnut.com/l/_fQkZeHvYrN1C
https://dl.doubtnut.com/l/_s8nEedCZxa1d


Watch Video Solution

30. What would be the IUPAC name of element

with atomic number 119 ?

Watch Video Solution

31. What is the position of lanthanide and

actinide series in the periodic table ?

Watch Video Solution

https://dl.doubtnut.com/l/_s8nEedCZxa1d
https://dl.doubtnut.com/l/_aFrXeVu3MCFp
https://dl.doubtnut.com/l/_prMxWHehvOBG
https://dl.doubtnut.com/l/_chgGBHV4c7xg


32. How many elements can be there in the

third period ?

Watch Video Solution

33. Do the non - metallic character exhibited

by the halogens have any relation to

ionization enthalpy?

View Text Solution

https://dl.doubtnut.com/l/_chgGBHV4c7xg
https://dl.doubtnut.com/l/_VaCikagtp9tN


34. Why s-block elements act as strong

reducing agenis ?

Watch Video Solution

35. Find the position of element with atomic

number 35 in the periodic table

Watch Video Solution

36. What are transuranic elements ?

https://dl.doubtnut.com/l/_EhnFt2hPYPZW
https://dl.doubtnut.com/l/_czAeDjs0Sxuu
https://dl.doubtnut.com/l/_K93aOBmBbSsO


Watch Video Solution

37. Out of the following elements which is the

most non-metallic ? 

Na, Mg and Al.

Watch Video Solution

38. Pick the metalloid among the following

given elements. 

P, S, Si, Al.

https://dl.doubtnut.com/l/_K93aOBmBbSsO
https://dl.doubtnut.com/l/_W76v38pVMlif
https://dl.doubtnut.com/l/_4ZCoqPA9mnFs


Watch Video Solution

39. What is the trend down the group in the

periodic table of atomic size ?

Watch Video Solution

40. What will be the atomic radius of fluorine

atom of a covalently bonded fluorine molecule

with internuclear distance 128 pm ?

Watch Video Solution

https://dl.doubtnut.com/l/_4ZCoqPA9mnFs
https://dl.doubtnut.com/l/_HL2q3up8GvGP
https://dl.doubtnut.com/l/_xY6jgfhKKmcd


41. The internuclear distance between two

adjacent atoms of Ne is 360 pm . What will be

its van der Waals radius ?

Watch Video Solution

42. Arrange the following elements in the

order of increasing atomic radius . N, O, F and

Ne.

Watch Video Solution

https://dl.doubtnut.com/l/_IUiIfJwGxCYW
https://dl.doubtnut.com/l/_eLMWrcH5Qx2p
https://dl.doubtnut.com/l/_UxK9Q61TROf3


43. For which element the second ionization

enthalpy is expected to be greater, N or O ?

Watch Video Solution

44. What is the expected order of ionization

enthalpy for the given elements Li, Na, K and

Rb ?

Watch Video Solution

https://dl.doubtnut.com/l/_UxK9Q61TROf3
https://dl.doubtnut.com/l/_GRTj7GGypnql


45. Which among the following elements will

have a positive electron gain enthalpy ? B, C, N,

O.

Watch Video Solution

46. S has more negative electron gain enthalpy

than O why ?

Watch Video Solution

https://dl.doubtnut.com/l/_BmcBsVdNoLsn
https://dl.doubtnut.com/l/_lzDVpNowXQXJ


47. Is the electronegativity of an atom is

constant ?

Watch Video Solution

48. It out of two given elements A and B, A has

a higher ionization energy than B, which

element is expected to be more

electronegative A or B ?

Watch Video Solution

https://dl.doubtnut.com/l/_KMF1JANcHtCS
https://dl.doubtnut.com/l/_6hitSj4HkTyu
https://dl.doubtnut.com/l/_Y9MbihbeHLJk


49. What would be the formula of the

compound formed by A and B, where A has the

valence 3 and B has the valence 3 ?

Watch Video Solution

50. An element M combines with a halogen Cl.

What would be the formula of the compound

obtained if M has a valence of 2 ?

Watch Video Solution

https://dl.doubtnut.com/l/_Y9MbihbeHLJk
https://dl.doubtnut.com/l/_ZEStgIT5KPaJ
https://dl.doubtnut.com/l/_ybxv4JPUe8Su


51. What is the covalency of B in 

and its oxidation state ?

Watch Video Solution

[B(OH)4]

52. What happens to the oxidation state of the

elements of the second moving from left to

right with respect to their oxides ?

Watch Video Solution

https://dl.doubtnut.com/l/_ybxv4JPUe8Su
https://dl.doubtnut.com/l/_Dw3dnTBbTOnn


Assignment Section A

53. What is the nature of  ?

(Acidic/Basic)

Watch Video Solution

Al2O3

54. Show that the nature of  is acidic.

Watch Video Solution

SO3

https://dl.doubtnut.com/l/_Il4bq4yiY2u0
https://dl.doubtnut.com/l/_F0EfLP2IIXp9


1. On moving from left to right across a period

in the periodic table the metallic character

A. Decreases

B. Increases

C. Remains constat

D. First increases and then decreases

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Yox0wqQnxXYW
https://dl.doubtnut.com/l/_5SOEUM8seREY


2. An element with atomic number 20 will be

placed in which period of the periodic table

A. 2

B. 4

C. 3

D. 1

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5SOEUM8seREY


3. The electronic structure

 is characteristic of

A. Lanthanides

B. Actinides

C. Rare gases

D. Transition elements

Answer: D

Watch Video Solution

(n − 1)d1 − 10ns0 − 2

https://dl.doubtnut.com/l/_qAOumhhZafCz
https://dl.doubtnut.com/l/_KL2gJvSh9nw1


4. IUPAC name of element of atomic number

114 is

A. Ununtetradium

B. Ununquadium

C. Unnilquadium

D. Unniltetradium

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KL2gJvSh9nw1


5. An element has electronic configuration

. Predict its group, period and

block

A. Group=16, period= , block-s

B. Group =16, period , block-p

C. Group=10, period , block-p

D. Group=12, period , block-d

Answer: B

Watch Video Solution

1s22s22p63s23p4

3rd

= 3rd

= 2nd

= 4th

https://dl.doubtnut.com/l/_aYds65DNCZQH


6. Which of the following pairs has both

members from the same group of the periodic

table ?

A. Mg-K

B. Mg-Na

C. Na-Ba

D. Mg-Ca

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DjycAW8muah0


7. An element with atomic number 29 belongs

to

A. s-block

B. p-block

C. d-block

D. f-block

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_d8vqdTQtN0f6
https://dl.doubtnut.com/l/_YGMjoQBoFt7h


8. In the periodic table from left to right in a

period, the atomic volume

A. Increases

B. Decreases

C. Remains constat

D. First increases and then decreases

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YGMjoQBoFt7h


9. Which of the following electronic structure

represents a metallic element ?

A. 2,8,7

B. 2,8,8

C. 2,8,4

D. 2,8,1

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_f6q7HTMuVTTW
https://dl.doubtnut.com/l/_sDaY9JwdIQ1v


10. The sceening effect of d-electrons is

A. Equal to that of p-electrons

B. More than that of p-electrons

C. Same as f-electrons

D. Less than p-electrons

Answer: D

Watch Video Solution

11. Correct order of radii

https://dl.doubtnut.com/l/_sDaY9JwdIQ1v
https://dl.doubtnut.com/l/_NSOQfz3eGYeB


A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

Na > Mg > Al

Na+ > Mg2 + > Al3 +

I + < l < l−

12. Which pair of elements shows positive

elecron gain enthalpy ?

https://dl.doubtnut.com/l/_NSOQfz3eGYeB
https://dl.doubtnut.com/l/_RBDuJpbIAi3X


A. He, N, O

B. Ne, N, Cl

C. O, Cl, F

D. N, He, Ne

Answer: D

Watch Video Solution

13. The elements of same group of the periodic

table have

https://dl.doubtnut.com/l/_RBDuJpbIAi3X
https://dl.doubtnut.com/l/_2Mb2UqRanvPx


A. Atomic number

B. Electronic configuration

C. Atomic weight

D. Number of electrons in the valence shell

Answer: D

Watch Video Solution

14. Which pair of elements has same chemical

properties ?

https://dl.doubtnut.com/l/_2Mb2UqRanvPx
https://dl.doubtnut.com/l/_DbZth9kjipGH


A. Z=13, Z=22

B. Z=3, Z=11

C. Z=4, Z=24

D. Z=2, Z=4

Answer: B

Watch Video Solution

15. Write the atomic number of the element

present in the third period and seventeenth

group of the periodic table.

https://dl.doubtnut.com/l/_DbZth9kjipGH
https://dl.doubtnut.com/l/_Qpx8H14lVStt


A. 15

B. 16

C. 9

D. 17

Answer: D

Watch Video Solution

16. Chalcogen are elements of the group

A. 17th

https://dl.doubtnut.com/l/_Qpx8H14lVStt
https://dl.doubtnut.com/l/_FG1CJRQ9Z0Qc


B. 

C. 

D. 

Answer: C

Watch Video Solution

15th

16th

14th

17. Which of the following shows diagonal

relationship ?

A. Boron and silicon

https://dl.doubtnut.com/l/_FG1CJRQ9Z0Qc
https://dl.doubtnut.com/l/_HWUlqIMsCBNu


B. Boron and aluminium

C. Boron and gallium

D. Boron and carbon

Answer: A

Watch Video Solution

18. What are representative elements?

A. s-block

B. s-block and p-block

https://dl.doubtnut.com/l/_HWUlqIMsCBNu
https://dl.doubtnut.com/l/_BU7QlHpz7P4Z


C. d-block or transition elements

D. d-block and f-block

Answer: B

Watch Video Solution

19. Which group of elements represents a

collection of isoelectronic species ?

A. 

B. 

Al3 + , Si4 − , S2 −

Ca2 + , Sc3 + , Cl+

https://dl.doubtnut.com/l/_BU7QlHpz7P4Z
https://dl.doubtnut.com/l/_1wIkaqQ4rly8


C. 

D. 

Answer: D

Watch Video Solution

N 3 − , F − , O−

Ca2 + , Cl− , Sc3 +

20. Which of the following electronic

configuration represents the most metallic

element ?

A. [He]2s1

https://dl.doubtnut.com/l/_1wIkaqQ4rly8
https://dl.doubtnut.com/l/_HrmbtYSDbbVi


B. 

C. 

D. 

Answer: D

Watch Video Solution

[Ne]3s1

[Ar]4s1

[Kr]5s1

21. The group of elements in which the last

electron is present the anti-penultimate shell

of atom called

https://dl.doubtnut.com/l/_HrmbtYSDbbVi
https://dl.doubtnut.com/l/_Cm7bnlGSyXUf


A. f-block elements

B. d-block elements

C. p-block elements

D. s-block elements

Answer: A

Watch Video Solution

22. Which general electronic configuration of

the element does not represent a non-metal ?

https://dl.doubtnut.com/l/_Cm7bnlGSyXUf
https://dl.doubtnut.com/l/_v7oPXv6ixFVE


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ns2, np4

ns2, (n − 1)d1 − 10, np5

ns1 − 2, (n − 1)d1 − 10

ns2, (n − 1)d1 − 10, np1 − 6

23. Find the incorrect statement.

https://dl.doubtnut.com/l/_v7oPXv6ixFVE
https://dl.doubtnut.com/l/_Qkz0JEnjRPub


A. Valence electron and valency is same for

group 1

B. p-block elements are metals, nonmetals

and metalloids

C. Noble gases has 8 valence electrons

except He but valency zero

D. Smallest atom of periodic table is He

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Qkz0JEnjRPub
https://dl.doubtnut.com/l/_hNfMsTPZ4Tky


24. The effective nuclear charge across the

period (from left to right)

A. Increases

B. Decreases

C. First increases and then decreases

D. First decreases and then increases

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hNfMsTPZ4Tky
https://dl.doubtnut.com/l/_G5SjoqmN9nlS


25. Which electronic configuration of an

element has abnormally high difference

between second and third ionization

enthalpies ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1s22s22p63s1

1s22s22p63s23p1

1s22s22p6, 3s23p2

1s22s22p63s2

https://dl.doubtnut.com/l/_G5SjoqmN9nlS


26. Which of the following has the highest

negative electron gain entahlpy ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F −

O−

Na+

Mg2 +

https://dl.doubtnut.com/l/_G5SjoqmN9nlS
https://dl.doubtnut.com/l/_ps17kcItA0qB
https://dl.doubtnut.com/l/_JxKFmLAEzFgu


27. The outermost electronic configuration of

the most electronegative element is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2s22p3

2s22p4

2s22p5

3s23p5

https://dl.doubtnut.com/l/_JxKFmLAEzFgu
https://dl.doubtnut.com/l/_pk9SYQVikO3Z


28. Match the elements given in column (I)

with the most appropriat expected values

given in column II 

A. A(r ), B(p),C(q),D(s)

B. A(s),B(q),C(r ),D(p)

C. A(p),B(q),C(r ),D(s)

D. A(r ),B(q), C(p),D(s)

Column I Column II

Element Electronegative values

A. F (p)3.5

B. O (q)3.0

C. N (r)4.0

D. C (s)2.5

https://dl.doubtnut.com/l/_pk9SYQVikO3Z


Answer: A

Watch Video Solution

29. Electronegativity of the elements O,F,S and

Cl increases in the order

A. S,Cl,O,F

B. Cl,S,O,F

C. S,Cl,F,O

D. Cl,S,F,O

https://dl.doubtnut.com/l/_pk9SYQVikO3Z
https://dl.doubtnut.com/l/_Cpi6BT6FpIZ3


Answer: A

Watch Video Solution

30. Valence electrons in the atom of element A

is 4 and in the element B is 2. Most probable

compound formed from A and B is

A. 

B. 

C. 

D. 

A2B3

AB2

AB2

A2B

https://dl.doubtnut.com/l/_Cpi6BT6FpIZ3
https://dl.doubtnut.com/l/_CfoFxrekZXws


Answer: C

Watch Video Solution

31. Which orbital diagram gives an insight

ionization energy ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_CfoFxrekZXws
https://dl.doubtnut.com/l/_7BMATnF54lUp


Answer: C

Watch Video Solution

32. The largest atomic radius will be of

A. Be

B. Na

C. F

D. Mg

Answer: B

https://dl.doubtnut.com/l/_7BMATnF54lUp
https://dl.doubtnut.com/l/_fkbVltI1WWP0


Watch Video Solution

33. The order of increasing atomic radii is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ne < F < O < N

F > N > O > Ne

N < O < F < Ne

F < O < N < Ne

https://dl.doubtnut.com/l/_fkbVltI1WWP0
https://dl.doubtnut.com/l/_y9f8s7DVAGnO


34. Highest amount of energy will be required

for the removal of electron from

A. s-subshell

B. p-subshell

C. d-subshell

D. f-subshell

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_y9f8s7DVAGnO
https://dl.doubtnut.com/l/_nDKJVySyxkrW
https://dl.doubtnut.com/l/_wC3p6KzNZG8s


35. Arrangement of atoms according to their

increasing ionization energy is clearly

represented by the given option.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C < N < O < F

C < O < N < F

N < C < O < F

C < O < F < N

https://dl.doubtnut.com/l/_wC3p6KzNZG8s


36. Pick the incorrect statement about the

factors affecting ionization energy

A. Half filled or full filled atomic orbitals

have high ionization energy

B. More is the shielding of valence

electrons more is the ionization energy

C. Larger is the atomic radii lower is

ionization energy

https://dl.doubtnut.com/l/_zhJy4fSEM36y


D. lonization enthalpy  effective nuclear

charge

Answer: B

Watch Video Solution

∝

37. What will be the correct order of size for

the given elements ?

A. 

B. 

Na < Cl < F

Na < F < Cl

https://dl.doubtnut.com/l/_zhJy4fSEM36y
https://dl.doubtnut.com/l/_9DoQLSJHmMJZ


C. 

D. 

Answer: C

Watch Video Solution

F < Cl < Na

Cl < F < Na

38. In which element the electrons will be

experiencing the highest effective nuclear

charge ? The elements are Be, B, C, N & O.

A. O

https://dl.doubtnut.com/l/_9DoQLSJHmMJZ
https://dl.doubtnut.com/l/_32Qq2x6Dg2QD


B. Be

C. 

D. N= O

Answer: A

Watch Video Solution

Be ≈ B

39. Which of the following is not a

representative element ?

A. Z=37

https://dl.doubtnut.com/l/_32Qq2x6Dg2QD
https://dl.doubtnut.com/l/_XNJ6rNLXzhy5


B. Z=31

C. Z=54

D. Z=24

Answer: D

Watch Video Solution

40. Correct order of 1st ionisationpotential (IP)

among following elements Be, B, C, N, O is

A. B < Be < C < O < N

https://dl.doubtnut.com/l/_XNJ6rNLXzhy5
https://dl.doubtnut.com/l/_d8ulOaCijIc9


Assignment Section B

B. 

C. 

D. 

Answer: A

Watch Video Solution

B < Be < C < N < O

Be < C < B < N < O

Be < B < C < O < N

1. In Lother Meyer's curve, the element on the

peak of curve will be

https://dl.doubtnut.com/l/_d8ulOaCijIc9
https://dl.doubtnut.com/l/_iU2i6KGbE4xB


A. F

B. Na

C. Mg

D. Ne

Answer: B

Watch Video Solution

2. According to Mendeleev's periodic law

physical and chemical properties are function

of

https://dl.doubtnut.com/l/_iU2i6KGbE4xB
https://dl.doubtnut.com/l/_wcHZxmcs2fFf


A. Atomic number

B. Atomic weight

C. Atomic volume

D. Number of neutrons

Answer: B

Watch Video Solution

3. With which block  belongs ?

A. s

30Zn

https://dl.doubtnut.com/l/_wcHZxmcs2fFf
https://dl.doubtnut.com/l/_hbNTXGGKCDMy


B. p

C. d

D. f

Answer: C

Watch Video Solution

4. Out of following which has the highest

electronegativity ?

A. H

https://dl.doubtnut.com/l/_hbNTXGGKCDMy
https://dl.doubtnut.com/l/_cqIbZnM2ebyJ


B. Li

C. Na

D. Be

Answer: A

Watch Video Solution

5. Which of the following has largest size ?

A. 

B. 

H −

He

https://dl.doubtnut.com/l/_cqIbZnM2ebyJ
https://dl.doubtnut.com/l/_IDAVxavW2oQn


C. 

D. 

Answer: A

Watch Video Solution

Li+

Be+ 2

6. Which of the following orbitals has higher

screening power ?

A. 4s

B. 4p

https://dl.doubtnut.com/l/_IDAVxavW2oQn
https://dl.doubtnut.com/l/_nm76u5OfQbd8


C. 4d

D. 4f

Answer: A

Watch Video Solution

7. The element which belongs with chalcogen

family is

A. N

B. P

https://dl.doubtnut.com/l/_nm76u5OfQbd8
https://dl.doubtnut.com/l/_I14Qcoe4ISbh


C. S

D. Cl

Answer: C

Watch Video Solution

8. The element which has highest 2nd

ionisation energy is

A. Na

B. Mg

https://dl.doubtnut.com/l/_I14Qcoe4ISbh
https://dl.doubtnut.com/l/_eVZpMryg57zw


C. Ca

D. Ar

Answer: A

Watch Video Solution

9. An atom with high electronegativity

generally has :-

A. Low electron affinity

B. Small atomic number

https://dl.doubtnut.com/l/_eVZpMryg57zw
https://dl.doubtnut.com/l/_tWeeu7iQVbXO


C. Large atomic radius

D. High ionisation potential

Answer: D

Watch Video Solution

10. Ionic radii are

A. Greater than the respective atomic radii

of elements in general

https://dl.doubtnut.com/l/_tWeeu7iQVbXO
https://dl.doubtnut.com/l/_QQbnUsl0QtaI


B. Greater than the respective atomic radii

of electropositive elements

C. Greater than the respective atomic radii

of electronegative elements

D. Less than the respective atomic radii of

electronegative elements

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QQbnUsl0QtaI


11. The first ionisation potential of 

and  are in the order

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na, Mg, Al

Si

Na < Mg > Al < Si

Na < Mg < Al > Si

Na > Mg > Al > Si

Na > Mg > Al < Si

https://dl.doubtnut.com/l/_LezAFHQcesk2
https://dl.doubtnut.com/l/_6QFxRClE2hxD


12. Which of the following has maximum

number of unpaired electrons ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Mg2 +

B3 +

V 3 +

Fe2 +

https://dl.doubtnut.com/l/_6QFxRClE2hxD


13. Which of the following elements do not

belong to the family indicated ?

A. Cu- Coinage metal

B. Ba- Alkaline earth metal

C. Zn- Alkaline earth metal

D. Xe- Noble gas

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qc1Sndv9aHlv
https://dl.doubtnut.com/l/_HcbABCg80Vu2


14. If the atomic number of an element is 33, it

will be placed in the periodic table in the

A. 1st group

B. 3rd group

C. 15th group

D. 17th group

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HcbABCg80Vu2


15. Which among the following elements has

the highest value for third ionisation energy ?

A. Mg

B. Al

C. Na

D. Ar

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_TVAmh3pecok3
https://dl.doubtnut.com/l/_51SqG3mEsKkh


16. The screening effect of inner electrons of

an atom can cause

A. A decrease in the ionisation energy

B. An increase in the jonisation energy

C. No effect on the ionisation potential

D. An increase in the attraction of the

nucleus on the outermost electrons

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_51SqG3mEsKkh
https://dl.doubtnut.com/l/_jtlOltvk8BGo


17. The diagonal similarities are due to similar

polarising powers for the elements 

The polarising power is defined as

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ionic charge

ionic radius

(ionic charge)
2

ionic radius

ionic charge

(ionic radius)
2

ionic charge

(ionic radius)1 / 2

https://dl.doubtnut.com/l/_jtlOltvk8BGo


18. Which of the following gradation in the

properties is false, as we move from Left to

right in the periodic table ?

A. Metallic to non-metallic character

B. Oxidising to reducing properties

C. Metallic solids through network solids to

molecular solids

D. Base forming to acid forming character

Answer: B

https://dl.doubtnut.com/l/_LNw9Q592SVT0


Watch Video Solution

19. The increasing order of electron affinity

values of  and  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

O, S Se

O > S > Se

S > Se > O

Se > O > S

Se > S > O

https://dl.doubtnut.com/l/_LNw9Q592SVT0
https://dl.doubtnut.com/l/_4Zopro3daUn5


20. The element which has highest  I.E. ?

A. Li

B. Be

C. K

D. B

Answer: A

Watch Video Solution

IInd

https://dl.doubtnut.com/l/_4Zopro3daUn5
https://dl.doubtnut.com/l/_K3pq9bUPKRye
https://dl.doubtnut.com/l/_rOfMiDF5KANj


21. The element which has highest electron

affinity ?

A. Oxygen

B. Sulphur

C. Nitrogen

D. Phosphorus

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rOfMiDF5KANj


22. Electronegativity of an element is 1.0 on

the Pauling scale. Its value of Mulliken scale

will be

A. 2.8

B. 1

C. 

D. 1.5

Answer: A

Watch Video Solution

2.0

https://dl.doubtnut.com/l/_kEe0vlaDoFwM


23. Which of the following element has

highest shielding constant ?

A. Mg

B. Al

C. K

D. Ga

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_FocpRP8qlPj5
https://dl.doubtnut.com/l/_8b3gR0SSo6Rw


24. Which one of the following order is correct

?

A.  (radii)

B.  (radii)

C.  (lonisation energy)

D.  (lonisation energy)

Answer: B

Watch Video Solution

I > I + > I −

I − > I > I +

I − > I > I +

I + 5 < I + < I + 7

https://dl.doubtnut.com/l/_8b3gR0SSo6Rw


25. Which one of the following oxides has

highest acidic character ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CO2

Cl2O7

SiO2

SO2

https://dl.doubtnut.com/l/_8sBUYGROwcuT
https://dl.doubtnut.com/l/_3jSezs83p69I


26. Electron gain enthalpy will be positive in

A.  is formed from 

B.  is formed from O

C.  is formed from S

D.  is formed from Na

Answer: A

Watch Video Solution

O− 2 O− 1

O− 1

S − 1

Na−

https://dl.doubtnut.com/l/_3jSezs83p69I


27. Enthalpy change in the following process is

 


Which of the following processes has enthalpy

change=X kJ/mole ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

A + e− → A− ΔH = − XkJ /mole

A− 2 → A− + 1e−

A + e− → A−

A− → A + e−

A+ + e− → A

https://dl.doubtnut.com/l/_xwhPFXwH2r42


View Text Solution

28. Uub is the symbol for the element with

atomic number-

A. 102

B. 108

C. 110

D. 112

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xwhPFXwH2r42
https://dl.doubtnut.com/l/_N2JYfKKSjhP0


29. An element has electronic configuration

[Xe] . It belongs to ____ block of

this periodic table.

A. s

B. p

C. d

D. f

Answer: D

Watch Video Solution

4f 7, 5d1, 6s2

https://dl.doubtnut.com/l/_N2JYfKKSjhP0
https://dl.doubtnut.com/l/_dEhK0WRkh3TR


30. A sudden large jump between the values of

second and third ionisation energies of an

element would be associated with the

electronic configuration

A. 

B. 

C. 

D. 

Answer: D

1s2, 2s2p6, 3s1

1s2, 2s2p6, 3s2p1

1s2, 2s2p6, 3s2p2

1s2, 2s2p6, 3s2

https://dl.doubtnut.com/l/_dEhK0WRkh3TR
https://dl.doubtnut.com/l/_YfIi0DrFMUUT


Watch Video Solution

31. An element has 56 nucleons in nucleus and

if it is isotonic with . Which group and

period does it belong to ?

A.  group,  period

B.  group,  period

C.  group,  period

D.  group,  period

Answer: A

30Y
60

8th 4th

14th 3rd

12th 3rd

12th 4th

https://dl.doubtnut.com/l/_YfIi0DrFMUUT
https://dl.doubtnut.com/l/_rOO4O19JCNkx


Watch Video Solution

32. Which of the following processes will

release energy equal to ionziation energy ?

A. 

B. 

C. 

D. 

Answer: C

M ( g )

+e−

−−→ M
( − )

( g )

M ( s )

−e
−−→ M +

( s )

M +
( g )

+e−

−−→ M ( g )

M ( g )

−e−

−−→ M
( − )

( g )

https://dl.doubtnut.com/l/_rOO4O19JCNkx
https://dl.doubtnut.com/l/_HdaxAMDglVai


View Text Solution

33. The chemistry of Be is very similar to that

of aluminium, because

A. They belong to same group

B. They belong to same period

C. Both have nearly the same ionic size

D. The ratio of their charge to size is nearly

the same

Answer: D

https://dl.doubtnut.com/l/_HdaxAMDglVai
https://dl.doubtnut.com/l/_MZQ2YonBBorw


Watch Video Solution

34. The ionisation energy of Li is 500 KJ/mole.

The amount of energy required to convert 70

mg of Li atoms required to convert 70 mg of Li

atoms in gaseous state into  ion (in KJ) is

A. 5.2 kJ

B. 52 kJ

C. 520 kJ

D. 52 J

Li+

https://dl.doubtnut.com/l/_MZQ2YonBBorw
https://dl.doubtnut.com/l/_zPcMSrtbhNA1


Assignment Section C

Answer: A

Watch Video Solution

1. Choose the correct pair regarding ionisation

energy 

A. 

B. 

C. 

(IE1)

B > Be

Tl > Ga

N > O

https://dl.doubtnut.com/l/_zPcMSrtbhNA1
https://dl.doubtnut.com/l/_JsO4l8JkewOX


D. 

Answer: B::C::D

Watch Video Solution

Li > Na

2. The element which belong with p-block

is/are

A. Fe

B. Ga

C. Na

https://dl.doubtnut.com/l/_JsO4l8JkewOX
https://dl.doubtnut.com/l/_lE6uYikow3OE


D. I

Answer: B::D

Watch Video Solution

3. Choose the correct statement/statements

regarding Modern periodic table

A. Actinoids are placed in main body of

periodic table

https://dl.doubtnut.com/l/_lE6uYikow3OE
https://dl.doubtnut.com/l/_CGJPwKbK55Hc


B. Chemical properties are periodic

function of atomic number

C. In periodic table, 18 group are present

D. 7th period is incomplete

Answer: B::C::D

Watch Video Solution

4. Which of the following is/are correct pair

regarding size ?

https://dl.doubtnut.com/l/_CGJPwKbK55Hc
https://dl.doubtnut.com/l/_Fz29woLGgbcr


A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

Zn > Cu

N > O

Al > Ca

B > C

5. Choose the correct option(s)

https://dl.doubtnut.com/l/_Fz29woLGgbcr
https://dl.doubtnut.com/l/_DT5b3rtUrXEM


A. Oxygen has highest electron gain

enthalpy among chalcogens

B. 

C. 

D. 

Answer: B::D

View Text Solution

https://dl.doubtnut.com/l/_DT5b3rtUrXEM


6. Choose the process which is/are

endothermic ?

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

O− 1 + e− → O− 2

Ar → A+
r + e−

Ar + e− → Ar−

H + e− → H −

https://dl.doubtnut.com/l/_ywLPdvvvRULS
https://dl.doubtnut.com/l/_Dur6PwsJlWxI


7. Which of the following is/are correct order

regarding radius ?

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

Be+ 2 < B+ 3 < Li+

B+ 3 < Be+ 2 < Li+

F − < O− 2 < N − 3

B+ 3 < Ga+ 3 < Al+ 3

https://dl.doubtnut.com/l/_Dur6PwsJlWxI


8. Which of the following pairs contain

metalloids ?

A. Ga, Ge

B. As, Te

C. I, Sb

D. In, Tl

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_mqyYWAAdZCQa
https://dl.doubtnut.com/l/_D2QM5B3PgeVT


9. Choose the correct statement(s).

A.  element in a noble gas

B.  element belongs to s block

C.  element belongs to f block

D.  element belongs to f

block

Answer: A::D

Watch Video Solution

[Ar]3d104s24p6

[Ar]3d54s1

1s2

[Xe]4f 15d16s2

https://dl.doubtnut.com/l/_D2QM5B3PgeVT


10. Which of the following is/are correct order

in accordance of electropositive nature of

metal ?

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

Fe < Mg < Cu

Na > Mg > Al

Mg < Ca < Sr

Fe > Cu > Zn

https://dl.doubtnut.com/l/_sYvxB8dbRr5R


11. Choose the pair in which  of first

element is greater than  of second

element but in case of  order is/are

reversed

A. N, O

B. P,S

C. Be,B

D. F,O

Answer: A::B::C::D

Watch Video Solution

IE1

IE1

IE2

https://dl.doubtnut.com/l/_Eg1RrnFyIdrc


12. Which of the following sequence

represents atomic number of only

representative elements?

A. 55,12,48,53

B. 13,33,54,83

C. 3,33,53,87

D. 22,33,55,66

Answer: B::C

https://dl.doubtnut.com/l/_Eg1RrnFyIdrc
https://dl.doubtnut.com/l/_STP2Y0gLKaHV


Assignment Section D Linked Compreshension

Type Questions

Watch Video Solution

1. Ionisation energy is the amount of energy

required to remove the outermost  from a

gaseous atom. It's unit is kJ/mole or kcal/mole. 

Successive ionisation energy - It is the amount

of energy required to remove electron

successively from a gaseous ion. These are

termed as  etc. the difference in

e−

IE2, IE3, IE4

https://dl.doubtnut.com/l/_STP2Y0gLKaHV
https://dl.doubtnut.com/l/_0Yuqy60bmTmK


the values of  helps to

determine electronic configuration of the

element. 

 


Which element forms stable unipositive ion ?

A. A

B. B

C. C

D. D

IE1, IE2  and IE3

https://dl.doubtnut.com/l/_0Yuqy60bmTmK


Answer: B

Watch Video Solution

2. Ionisation energy is the amount of energy

required to remove the outermost  from a

gaseous atom. It's unit is kJ/mole or kcal/mole. 

Successive ionisation energy - It is the amount

of energy required to remove electron

successively from a gaseous ion. These are

termed as  etc. the difference in

the values of  helps to

e−

IE2, IE3, IE4

IE1, IE2  and IE3

https://dl.doubtnut.com/l/_0Yuqy60bmTmK
https://dl.doubtnut.com/l/_GbMbNxE0W9xt


determine electronic configuration of the

element. 

 


Which of the following is a non-metal ?

A. A

B. B

C. C

D. D

Answer: C::D

https://dl.doubtnut.com/l/_GbMbNxE0W9xt


Watch Video Solution

3. Ionisation energy is the amount of energy

required to remove the outermost  from a

gaseous atom. It's unit is kJ/mole or kcal/mole. 

Successive ionisation energy - It is the amount

of energy required to remove electron

successively from a gaseous ion. These are

termed as  etc. the difference in

the values of  helps to

determine electronic configuration of the

element. 

e−

IE2, IE3, IE4

IE1, IE2  and IE3

https://dl.doubtnut.com/l/_GbMbNxE0W9xt
https://dl.doubtnut.com/l/_MnDSLyykmz1A


 


Which element is a noble gas ?

A. A

B. B

C. C

D. D

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_MnDSLyykmz1A


4. Mulliken defined the electronegativity of an

atom as the arithmetic mean of its ionisation

energy and electron affinity. 

 


One more relationship given by him, if the

values are given in eV is 

When there is pure covalent bond between A-

B 

 


 


XA = (I. P . + E. A. )
1

2

XA =
Ionisation potential+Electron affinity

5.6

=
(IP )

A
+ (EA)

A

5.6

(IP )
B

+ (EA)
B

5.6

⇒ XA = XB

https://dl.doubtnut.com/l/_XGO44TUxFr4E


According to Mulliken, electronegativity

depends on

A. Ionisation potential

B. Electron gain enthalpy

C. Electron affinity

D. Both (1) & (3)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_XGO44TUxFr4E


5. Mulliken defined the electronegativity of an

atom as the arithmetic mean of its ionisation

energy and electron affinity. 

 


One more relationship given by him, if the

values are given in eV is 

When there is pure covalent bond between A-

B 

 


 


XA = (I. P . + E. A. )
1

2

XA =
Ionisation potential+Electron affinity

5.6

=
(IP )

A
+ (EA)

A

5.6

(IP )
B

+ (EA)
B

5.6

⇒ XA = XB

https://dl.doubtnut.com/l/_yaDDJd7M7PUe


When there is formation of  bond

then condition will be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

δ−

A −
δ+

B

>
(IP )A + (EA)A

5.6

(IP )B + (EA)B
5.6

>
(IP )A + (EA)B

5.6

(IP )A + (EA)B
5.6

=
(IP )A + (EA)B

2.8

(IP )A + (EA)B
2.8

>
(IP )A + (EA)B

5.6

(IP )A + (EA)A
5.6

https://dl.doubtnut.com/l/_yaDDJd7M7PUe


6. Mulliken defined the electronegativity of an

atom as the arithmetic mean of its ionisation

energy and electron affinity. 

 


One more relationship given by him, if the

values are given in eV is 

When there is pure covalent bond between A-

B 

 


 


Pauling's Electronegativity scale is based on

XA = (I. P . + E. A. )
1

2

XA =
Ionisation potential+Electron affinity

5.6

=
(IP )

A
+ (EA)

A

5.6

(IP )
B

+ (EA)
B

5.6

⇒ XA = XB

https://dl.doubtnut.com/l/_EWwpE4S9Vrzt


Assignment Section E Assertion Reason Type

Questions

A. Thermochemical data

B. I.E. data

C. E.A. data

D. Both (2) & (3)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EWwpE4S9Vrzt


1. Statement-1 : Nitrogen and oxygen have

nearly same size. 

Statement-2 : Electron-electron repulsions

tend to increase the size.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

https://dl.doubtnut.com/l/_I5LDllTH331m


C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: B

Watch Video Solution

2. Statement-1 : Nitrogen can form maximum

four bonds with hydrogen. 

Statement-2 : Valency is the combining

capacity of element and it is always constant

https://dl.doubtnut.com/l/_I5LDllTH331m
https://dl.doubtnut.com/l/_dRBQTEFdBYJS


A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-2

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-2

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dRBQTEFdBYJS


3. Statement-1 : Noble gases have high

ionisation energy. 

Statement-2 : Noble gases belong to 

group.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-3

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

18th

https://dl.doubtnut.com/l/_dRBQTEFdBYJS
https://dl.doubtnut.com/l/_r7GiRS7WeL4T


for Statement-3

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: B

Watch Video Solution

4. He and Be both have the same outer

electronic configuration like  type. 


Statement-2 : Both are chemically inert.

ns2

https://dl.doubtnut.com/l/_r7GiRS7WeL4T
https://dl.doubtnut.com/l/_k83ht1LLoV6g


A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-4

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-4

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_k83ht1LLoV6g


5. Statement-1: Fluorine has less electron

affinity than chlorine. 

Statement-2 : Due to small size, more electron-

electron repulsions are observed in F.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

https://dl.doubtnut.com/l/_k83ht1LLoV6g
https://dl.doubtnut.com/l/_DVyVL4pkEqls


for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

Watch Video Solution

6. Statement-1: Long form of periodic table

exactly explain the position of hydrogen. 

Statement-2 : Hydrogen is most abundent

element of the universe.

https://dl.doubtnut.com/l/_DVyVL4pkEqls
https://dl.doubtnut.com/l/_RlVyze4T5DmF


A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-6

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-6

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_RlVyze4T5DmF


7. Statement-1 : He and  have same size 


Statement-2 : He and  have same number

of electrons in valence shell.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

H −

H −

https://dl.doubtnut.com/l/_RlVyze4T5DmF
https://dl.doubtnut.com/l/_SIrnCeb0FbmM


C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: D

Watch Video Solution

8. Statement-1 :  is more acidic than BeO. 


Statement-2 : Ionisation energy of B is more

than Be.

B2O3

https://dl.doubtnut.com/l/_SIrnCeb0FbmM
https://dl.doubtnut.com/l/_YTjYdY9TcjfH


A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_YTjYdY9TcjfH


9. Statement-1 : Bond dissociation energy of

 is more than . 


Statement-2 : Due to smaller size of fluorine

there are greater electron repulsions between

the F atoms than Cl atoms.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

F2 Cl2

https://dl.doubtnut.com/l/_YTjYdY9TcjfH
https://dl.doubtnut.com/l/_Iqz4FNpS9J3f


B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Iqz4FNpS9J3f


10. Statement-1 : Ions , ,  are

isoelectronic. 

Statement-2 : In each ion, the total number of

electrons are 10.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

Na+ Mg2 + Al3 +

https://dl.doubtnut.com/l/_UCjD1FFdK5fc


C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

Watch Video Solution

11. Statement-1 : First Ionisation energy of

beryllium is more than boron. 

Statement-2 : In boron, 2p orbital is fully filled,

whereas, in beryllium, it is not fully filled.

https://dl.doubtnut.com/l/_UCjD1FFdK5fc
https://dl.doubtnut.com/l/_hhZvsMr5Dnok


A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_hhZvsMr5Dnok


12. Statement-1 : Fluorine is more

electronegative than chlorine. 

Statement-2 : Fluorine is smaller in size than

chlorine.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

https://dl.doubtnut.com/l/_hhZvsMr5Dnok
https://dl.doubtnut.com/l/_bU9ZZ8fyBePB


for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: B

Watch Video Solution

13. Statement-1 : Ionization energy of s-

electrons are more than the p-electrons for

the same shell. 

Statement-2 : s electrons are closer to the

https://dl.doubtnut.com/l/_bU9ZZ8fyBePB
https://dl.doubtnut.com/l/_KMOIMmkh8FVM


nucleus than p-electrons, hence, more tightly

attached.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

https://dl.doubtnut.com/l/_KMOIMmkh8FVM


Answer: A

View Text Solution

14. Statement-1 : Li and Mg show diagonal

relationship. 

Statement-2 : Li and Mg have nearly same

atomic radius.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

https://dl.doubtnut.com/l/_KMOIMmkh8FVM
https://dl.doubtnut.com/l/_yryZP5WWdMR8


Assignment Section F Matrix Match Type

Questions

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation

for Statement-1

C. Statement-1 is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_yryZP5WWdMR8


Assignment Section G Integer Answer Type

Questions

1. Match the following 

Watch Video Solution

1. What is the group no of element Une ?

View Text Solution

https://dl.doubtnut.com/l/_2HozVcy6nYMN
https://dl.doubtnut.com/l/_duJJDzhS2QQC


2. What is screening constant for outer

electron of H?

Watch Video Solution

3. Which group will show lowest second

ionization energy ? (Non radioactiv element)

Watch Video Solution

https://dl.doubtnut.com/l/_duJJDzhS2QQC
https://dl.doubtnut.com/l/_hLbEabHx6wDi
https://dl.doubtnut.com/l/_YwBu6mOp7wYt


4. The element which has highest electron

affinity will belong with group number x. Then

x-10 will be.

Watch Video Solution

5. The largest group in Modern periodic table

is

View Text Solution

https://dl.doubtnut.com/l/_nbOgeEBceq7k
https://dl.doubtnut.com/l/_pRzRoDYTGzZL


Assignment Section H Multiple True False Type

Questions

1. Statement-1 : Electronegativity of an element

depends on ionisation energy of that element.

Statement-2 : Electroegativity regularly

decreases along the group. 

Statement-3 : Fluorine is the most

electronegative element.

A. T F T

B. T T T

https://dl.doubtnut.com/l/_Ru9bZ2irgoeI


C. F T T

D. F F T

Answer: B

Watch Video Solution

2. Statement-1 : In Mendeleev's periodic table

arrangement of elements depend on their

atomic weight. 

Statement-2 : Some vacant sites were present

in this periodic table. 

https://dl.doubtnut.com/l/_Ru9bZ2irgoeI
https://dl.doubtnut.com/l/_4g3ur97hGpvl


Statement-3 : Position of isotope was well

explained by Mendeleev

A. T T F

B. F F T

C. T F T

D. T F F

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_4g3ur97hGpvl


3. Statement-1 : Tendency of salts of group II

getting hydrated increases down the group. 

Statement-2 : Alkali metal salts have less

tendency to get hydrated than group II salts. 

Statement-3 : Hydration of salts occur due to

imbalance of sizes of cation and anion.

A. F T F

B. T T T

C. T F T

D. F T T

https://dl.doubtnut.com/l/_JpNnpBwEXik4


Assignment Section I Subjective Type Questions

Answer: D

Watch Video Solution

1. Covalent radius of an element having 82

electrons in extranuclear part and 82 protons

in the nucleus is 146 Å. Calculate the

electronegativity on Allred Rochow scale of

that element.

Watch Video Solution

https://dl.doubtnut.com/l/_JpNnpBwEXik4
https://dl.doubtnut.com/l/_0tmsLPQpuxOJ


2. Calculate the energy required to convert all

the atoms of M (atomic number : 12) to 

ions present in 12 mg of metal vapours. First

and second ionization enthalpies of M are

737.77 and 1450.73  respectively.

Watch Video Solution

M 2 +

kJ  mol − 1

3. Calculate the electronegativity value of

chlorine on Mulliken's scale, given that

https://dl.doubtnut.com/l/_0tmsLPQpuxOJ
https://dl.doubtnut.com/l/_GMuz4LnoZXtc
https://dl.doubtnut.com/l/_ZVyLRuZh0ZLu


 and .

Watch Video Solution

IP = 13.0eV EA = 4.0eV

4. There are three elements I, II, III and their

ionisation energies are given below. 

 


Now identify 

(a) Which element is most reactive ? 

(b) Which element is noble gas ? 

(c ) Which can form a stable dihalide ?

IE1 IE2

I2372 5251

II900 1760

III520 7300

https://dl.doubtnut.com/l/_ZVyLRuZh0ZLu
https://dl.doubtnut.com/l/_6CeXAJtIoHHy


Watch Video Solution

5. Out of Ne and  which has higher

ionisation energy and why ?

Watch Video Solution

Na+

6. Alkali metals and coinage metals both have

 electron in outermost orbitals. 


(a) Out of these two groups, which group

elements have higher stability. Explain. 

ns1

https://dl.doubtnut.com/l/_6CeXAJtIoHHy
https://dl.doubtnut.com/l/_XWR5mXRguidb
https://dl.doubtnut.com/l/_mcNeyp1NIvwY


(b) Compare the polarising power of their

cation.

Watch Video Solution

7. Why are lanthanides and actinides place at

the bottom of the periodic table?

Watch Video Solution

8. Arrange the following in increasing order as

directed 

https://dl.doubtnut.com/l/_mcNeyp1NIvwY
https://dl.doubtnut.com/l/_TRH63wFrzcn2
https://dl.doubtnut.com/l/_QC7P86p4yxxU


Assignment Section J Aakash Challengers

Questions

(a)  (Stability) 


(b) B, Al, Ga, In, Tl (First Ionisation energy)

Watch Video Solution

Li+ , Be+ , B+ , C +

9. Why  is amphoteric while  is

acidic ?

Watch Video Solution

Al2O3 B2O3

https://dl.doubtnut.com/l/_QC7P86p4yxxU
https://dl.doubtnut.com/l/_casjjHfvmtz2
https://dl.doubtnut.com/l/_5w6cFogmxWJ9


1. Which of the following has the largest

ionisation energy ?

A. Zn

B. Sc

C. Cd

D. Hg

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5w6cFogmxWJ9


2. s orbital is more penetrating because

A. Probability of finding electron is

maximum on the surface of nucleus

B. s orbital is non-directional

C. s orbital is spherical in shape

D. All of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7XEmNWeAZFaj
https://dl.doubtnut.com/l/_UHv5RhNzcCLJ


3. The correct pair regarding property given in

bracket is

A.  (Oxidising character)

B.  (Electron affinity)

C.  (Electronegativity)

D.  (Ionisation energy)

Answer: A

Watch Video Solution

F2 > Cl2

F > Cl

F < Cl

O > N

https://dl.doubtnut.com/l/_UHv5RhNzcCLJ


4. Choose the correct statement

A. Isotopes have nearly same chemical

properties

B. Isoelectronic species may be neutral

C. Na and K have nearly same 

D. All of these

Answer: D

Watch Video Solution

Zeffective

https://dl.doubtnut.com/l/_TzaBFDLScuza
https://dl.doubtnut.com/l/_1hakdS1RIOB4


5. Maximum number of electrons in  shell is

A. 

B. 2(l+1)

C. 

D. 

Answer: C

Watch Video Solution

nth

n2

2n2

(l + 1)2

6. Choose the correct regarding E.N.

https://dl.doubtnut.com/l/_1hakdS1RIOB4
https://dl.doubtnut.com/l/_AZbJ9NfxGDm7


Exercise

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

B > Al > Ga > In

B > Al = Ga = In

B > In > Ga > Al

B > Al < Ga < In

https://dl.doubtnut.com/l/_AZbJ9NfxGDm7


1. All the elements in a group in the periodic

table have the same

A. Atomic number

B. Electronic conifiguration

C. Atomic weight

D. Number of electrons in the valence shell

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_l51uUQzzBG6Y
https://dl.doubtnut.com/l/_DtRPF825ye2n


2. Which pair of elements has same chemical

properties ?

A. Z=13 , Z=22

B. Z=3 , Z=11

C. Z=4 , Z=24

D. Z=2 , Z=4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DtRPF825ye2n


3. Write the atomic number of the element

present in the third period and seventeenth

group of the periodic table.

A. 15

B. 16

C. 9

D. 17

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NrsYsOZ1egR2


4. Chalcogen are elements of the group

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

17th

15th

16th

14th

https://dl.doubtnut.com/l/_Rt1iaiInFbzn


5. Representative elements are elements of

A. s - block

B. s-block and p-block

C. d-block or transition elements

D. d-block and f-block

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_SPBitBeXKmQe


6. Which general electronic configuration of

the element does not represent a non-metal ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ns2, np4

ns2, (n − 1)qn− 10, np5

ns1 − 2, (n − 1)d1 − 10

ns2, (n − 1)d1 − 10, np1 − 6

https://dl.doubtnut.com/l/_XyNcL6zZh6tg
https://dl.doubtnut.com/l/_lfN3i5qC2LhG


7. Which of the following is not a

representative element ?

A. Z=37

B. Z = 31

C. Z=54

D. Z=24

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_lfN3i5qC2LhG


8. The element having no neutron in the

nucleus of its atom is- 

(a). hydrogen

(b). nitrogen 

(c). helium

(d). boron

A. H

B. Mg

C. He

D. Ag

https://dl.doubtnut.com/l/_B1DnpHVWTtry


Answer: A

Watch Video Solution

9. Number of groups in d-block

A. 5

B. 10

C. 15

D. 20

Answer: B

https://dl.doubtnut.com/l/_B1DnpHVWTtry
https://dl.doubtnut.com/l/_OiTvWnLacmaJ


Watch Video Solution

10. Which of the following is transition

element ?

A. P

B. Zn

C. Cu

D. Na

Answer: C

https://dl.doubtnut.com/l/_OiTvWnLacmaJ
https://dl.doubtnut.com/l/_d55TIV9BV8ia


Watch Video Solution

11. Correct order of radii

A. 

B. 

C. 

D. N , He, Ne

Answer: A

Watch Video Solution

Na > Mg > AI

Na+ > Mg2 + > AI 3 +

I + < I < I −

https://dl.doubtnut.com/l/_d55TIV9BV8ia
https://dl.doubtnut.com/l/_8rIvOkDxmT9g
https://dl.doubtnut.com/l/_poilj24jPprz


12. Which pair of elements shows positive

elecron gain enthalpy ?

A. He , N , O

B. Ne , N, CI

C. O, CI,F

D. N, He, Ne,

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_poilj24jPprz
https://dl.doubtnut.com/l/_UD7m5VZqdLp5


13. Which electronic configuration of an

element has abnormally high difference

between second and third ionization

enthalpies ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1s22s22p63s1

1s22s22p63s23p1

1s22s22p63s23p2

1s22s22p63s2

https://dl.doubtnut.com/l/_UD7m5VZqdLp5


14. Which of the following has the highest

positive electron gain enthalpy ?

A. F

B. 

C. 

D. 

Answer: B

Watch Video Solution

O−

Na−

Mg2 +

https://dl.doubtnut.com/l/_UD7m5VZqdLp5
https://dl.doubtnut.com/l/_LYjJDcblTYMI
https://dl.doubtnut.com/l/_wKfX4jPTHRFu


15. The outermost electronic configuration of

the most electronegative element is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2s22p3

2s22p4

2s22p5

3s23p5

https://dl.doubtnut.com/l/_wKfX4jPTHRFu
https://dl.doubtnut.com/l/_oYBKKYeNfLgx


16. Which orbital diagram gives an insight

ionization energy ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_oYBKKYeNfLgx


17. The largest atomic radius will be of

A. Be

B. Na

C. F

D. Mg

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_JZXPCLPTIyAx


18. Highest amount of energy will be required

for the removal of electron from

A. s - subshell

B. p-subshell

C. d-subshell

D. f-subshell

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Ngl2b9gHkEnw
https://dl.doubtnut.com/l/_wuLpHXLl3vjL


19. Pick the incorrect statement about the

factors affecting ionization energy

A. Half filled or full filled atomic orbitals

have high ionization energy

B. more is the shielding of valence

electrons more is the ionization energy

C. Larger is the atomic radii lower is

ionization energy

D. lonization enthalpy  effective nuclear

charge

∝

https://dl.doubtnut.com/l/_wuLpHXLl3vjL


Answer: B

Watch Video Solution

20. The correct order of first ionization

potential among following elements Be, B, C is

A. 

B. B = Be =C

C. 

D. 

B < Be < C

Be < C < B

Be < B < C

https://dl.doubtnut.com/l/_wuLpHXLl3vjL
https://dl.doubtnut.com/l/_UIxDuWhMkQxN


Answer: A

Watch Video Solution

21. Which of the following shows diagonal

relationship ?

A. Boron and sillicon

B. Boron and aluminium

C. Boron and gallium

D. Boron and carbon

https://dl.doubtnut.com/l/_UIxDuWhMkQxN
https://dl.doubtnut.com/l/_FXe9JQt8YMAL


Answer: A

Watch Video Solution

22. Which of the following electronic

configuration represents the most metallic

element ?

A. 

B. 

C. 

D. 

[He]2s1

[Ne]3s1

[Ar]4s1

[Kr]5s1

https://dl.doubtnut.com/l/_FXe9JQt8YMAL
https://dl.doubtnut.com/l/_vEaorXHqMizk


Answer: D

Watch Video Solution

23. The group of elements in which the last

electron is present the anti-penultimate shell

of atom called

A. f-block elements

B. d - block elements

C. p-block elements

D. s-block elements

https://dl.doubtnut.com/l/_vEaorXHqMizk
https://dl.doubtnut.com/l/_yP2Ca9XfpC8p


Answer: A

Watch Video Solution

24. Find the incorrect statement.

A. Valence electron and valency is same for

group 1

B. p- block element are metals nonmetals

and metalloids

https://dl.doubtnut.com/l/_yP2Ca9XfpC8p
https://dl.doubtnut.com/l/_OIT8zMxXh8PD


C. Noble gases have 8 valence electrons

except He

D. Smallest atom of periodic table is He

Answer: D

Watch Video Solution

25. The effective nuclear charge across the

period (from left to right)

A. Increases

https://dl.doubtnut.com/l/_OIT8zMxXh8PD
https://dl.doubtnut.com/l/_aQqTcKUiV1VL


B. Decreases

C. First increases and then decreases

D. first decreases and then increases

Answer: A

Watch Video Solution

26. Valence electrons in the atom of element A

is 4 and in the element B is 2. Most probable

compound formed from A and B is

https://dl.doubtnut.com/l/_aQqTcKUiV1VL
https://dl.doubtnut.com/l/_wZTwP8PMd3dR


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A2B3

AB3

AB2

A2B

27. The most acidic oxide is:

A. SO2

https://dl.doubtnut.com/l/_wZTwP8PMd3dR
https://dl.doubtnut.com/l/_ZCOdRAeuCWR3


B. 

C. 

D. 

Answer: D

Watch Video Solution

SO3

NO2

CI2O7

28. The most basic oxide among the following

is

A. Na2O

https://dl.doubtnut.com/l/_ZCOdRAeuCWR3
https://dl.doubtnut.com/l/_R8O8C6Vs3qZI


B. CaO

C. MgO

D. FeO

Answer: A

Watch Video Solution

29. Neutral oxide out of following is

A. CO

B. NO

https://dl.doubtnut.com/l/_R8O8C6Vs3qZI
https://dl.doubtnut.com/l/_JFWq2oWU6z2U


C.  O

D. All of these

Answer: D

Watch Video Solution

N2

30. Which of the following is amphoteric ?

A. MgO

B. BeO

C. CO

https://dl.doubtnut.com/l/_JFWq2oWU6z2U
https://dl.doubtnut.com/l/_aXSDnDGy893S


Assignment Section A Objective Type Questions

D. 

Answer: B

Watch Video Solution

CO2

1. Modern periodic law is .

A. The physical and chemical properties of

the elements are periodic function of

https://dl.doubtnut.com/l/_aXSDnDGy893S
https://dl.doubtnut.com/l/_km8YevmRtOpQ


their atomic numbers

B. The physical and chemical properties of

the elements depend upon the energy of

the electrons

C. The physical and chemical properties of

the elements depends upon atomic wt.

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_km8YevmRtOpQ
https://dl.doubtnut.com/l/_5JJRpmoBniSA


2. Which one of the following statements

related to the modern periodic table is

incorrect?

A. The p-block has 6 column because a

maximum of 6 electrons can occupy all

the orbitals in the p - subshell

B. The d-block has 8 columns because a

maximum of 8 electrons can occupy all

the orbitals in the d - subshell

https://dl.doubtnut.com/l/_5JJRpmoBniSA


C. Each block contains a number of

columns equal to number of electrons

that can occupy the subshell

D. The block indicates the value of

azimuthal quantum number for the last

subshell which received electrons

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5JJRpmoBniSA


3. Elements which generally exhibit multiple

oxidation states and whose ions are usually

coloured are

A. Metalloids

B. Transition elements

C. Non - metals

D. Gasses

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_L90xqiAggyNO


4. The IUPAC name of element having atomic

number 108 is

A. Unniloctium

B. Ununoctium

C. Nilniloctinium

D. Ununoctinium

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KzU9SQRy7xpG
https://dl.doubtnut.com/l/_apT0RXiGOndX


5. Which of the following is a representative

element ?

A. Zn

B. Sr

C. Cu

D. Fe

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_apT0RXiGOndX


6. When a neutral atom is converted into

cation, there is

A. Atomic weight increases

B. Atomic weight decreases

C. Size increases

D. Size decrease s

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5UNBwSxhYVx4
https://dl.doubtnut.com/l/_xpmI0nrq0tRV


7. Which one is a correct statement
 of the

follwing-

A. Ionic radius of a metal is same as its

atomic radius

B. The ionic of a metal is greater than its

atomic radius

C. The atomic radius of a non - metal is

more than its ionic radius

D. The ionic radius of a metal is less than

its atomic radius

https://dl.doubtnut.com/l/_xpmI0nrq0tRV


Answer: D

Watch Video Solution

8. Which of the following  is

largest in size ?

A. 

B. 

C. 

D. All of these

N 3 − , O2 − , F −

N 3 −

O2 −

F −

https://dl.doubtnut.com/l/_xpmI0nrq0tRV
https://dl.doubtnut.com/l/_olNxLU0k3xSS


Answer: C

Watch Video Solution

9. Which of the following is not a correct for

iso - electronic ions ?

A. They have the same number of electrons

around their nuclei

B. Higher the atomic number higher will be

positive charge in a series of

https://dl.doubtnut.com/l/_olNxLU0k3xSS
https://dl.doubtnut.com/l/_8mroeADE2Uov


isoelectronic ions of same period

C. Isoelectronic ions have same electric

charge

D. An isoelectronic series may have both

positively and negatively charged ions

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_8mroeADE2Uov


10. The radii of  and  are in the

order of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F , F − , O O− 2

O2 − > O > F −F

F − > O2 − > F > O

O2 − > F − > O > F

O2 > F − > F > O

https://dl.doubtnut.com/l/_hzOjCAgkGMvc
https://dl.doubtnut.com/l/_BGvDgXp3hxM6


11. Which of the following is correct ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

rionic ∝ Z

rionic ∝ Zeff

rionic ∝
1

Zeff

rionic ∝ Z2
eff

12. Which ion has the largest radius ?

https://dl.doubtnut.com/l/_BGvDgXp3hxM6
https://dl.doubtnut.com/l/_49UfPtDQRZOd


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Se2 −

F −

O2 −

Rb+

13. The electronic configuration of an element

is . The atomic number of the1s22s22p63s23p3

https://dl.doubtnut.com/l/_49UfPtDQRZOd
https://dl.doubtnut.com/l/_H4iTId7PZXuu


element which is just below the above element

in the periodic table is

A. 36

B. 49

C. 33

D. 34

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_H4iTId7PZXuu


14. Which of the following has the highest

electron affinity?

A. I

B. Br

C. F

D. CI

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_WJekfZl6E3ST
https://dl.doubtnut.com/l/_JNANuEAsvOA2


15. The general valence shell electronic

configuration of transition elements is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ns1

ns2np5

ns0 − 2(n − 1)d1 − 10

ns2(n − 1)d10

https://dl.doubtnut.com/l/_JNANuEAsvOA2


16. Which one of the following is correct order

of the size of iodine species ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I + > I − > I

I − > I > I +

I > I − > I +

I > I + > I −

https://dl.doubtnut.com/l/_rRwywP8SyrdV
https://dl.doubtnut.com/l/_3Dpy10eupkJF


17. The first ionisation potentials (eV) of 

and  respectively are

A. 8.29, 8.29

B. 

C. 

D. 

Answer: A

Watch Video Solution

Be

B

9.32, 9.32

8.29, 9.32

9.32, 8.29

https://dl.doubtnut.com/l/_3Dpy10eupkJF


18. Identify the correct order of the size of the

following

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ca2 + < K + < Ar < CI − < S2

Ar < Ca2 + < K + < CI − < S2 −

Ca2 + < Ar < K + < CI − < S2 −

Ca2 + < K + < Ar < S2 − < CI −

https://dl.doubtnut.com/l/_WvTfhyzoGJFV
https://dl.doubtnut.com/l/_JmoqBwgkI8dl


19. Which of the following processes involves

absorption of energy?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CI(g) + e → CI(g)

O− (g)e− → O2 − (g)

O(g) −
e → O− (g)

S(g) + e− → S − (g)

https://dl.doubtnut.com/l/_JmoqBwgkI8dl


20. -aluminium and -silicon are known

as

A. Gallium and Germanium

B. Aluminium and Sillicon

C. Iron and Sulphur

D. Boron and Technitium

Answer: D

Watch Video Solution

Eka eka

https://dl.doubtnut.com/l/_FfHxotwonCiH
https://dl.doubtnut.com/l/_oMgzPME19DOM


21. Which of the following oxides is not

expected to react with sodium hydroxide ?

A. 

B. 

C. NO

D. 

Answer: B

Watch Video Solution

Na2O

CaO

CI2O7

https://dl.doubtnut.com/l/_oMgzPME19DOM


22. The element with highest electron affinity

will belong to

A. Period 2 , group 17

B. Period 3, group 17

C. Period 2, group 18

D. Period 2, group 1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ArQ5aBuO8KVV
https://dl.doubtnut.com/l/_TKCC7ZHgJxKb


23. Energy required for the ionisation of 0.02

gram atom of magnesium is x k J . The amount

of energy required to ionise 1 atom of

magneslum is

A. xkJ

B.  J

C.  J

D. 

Answer: D

Watch Video Solution

X

0.02NA

xx103

0.02NA

xNAkJ

https://dl.doubtnut.com/l/_TKCC7ZHgJxKb


24. Which is mismatched regarding the

position of the element as given below ?

A.  period

B. Y(Z=100 ) -f block ,  period

C. Z(Z=115) -d block ,  period

D. Both (1) & (3)

Answer: C

Watch Video Solution

X(Z = 89) − fblock, 6th

7th

7th

https://dl.doubtnut.com/l/_TKCC7ZHgJxKb
https://dl.doubtnut.com/l/_NnMNjWtb5FO3


25. Match the following regarding nature of

the oxides 

A. a (ii) , b(i) , c(iii) , d(iv)

B. a(iv) , b(i) , c(iii) , d(ii)

C. a(iv) , b(i) , c(ii) , d(iii)

D. a(ii) , b(i) , c(iv), d(iii)

Answer: C

Column-I ColumnII

a. N2O (i)Basic

b. BaO (ii)Amphoteric

c. As2O3 (iii)Acidic

d. CI2O7 (iv)Neutral

https://dl.doubtnut.com/l/_WGjAxS7X2Fry


Assignment Section B Objective Type Questions

Watch Video Solution

1. The electronic configuration of the elements

X,Y, Z and J are given below . Which element

has the highest metallic character

A. X=2 , 8,4

B. Y = =2 ,8 ,8

C. Z=2,8,8,1

https://dl.doubtnut.com/l/_WGjAxS7X2Fry
https://dl.doubtnut.com/l/_Y8NktlzRhBwL


D. J=2,8,8,7

Answer: C

Watch Video Solution

2. The electronegativity follows the order

A. 

B. 

C. 

D. 

F > O > CI > Br

F > CI > Br > O

O > F > CI > Br

CI > F > O > Br

https://dl.doubtnut.com/l/_Y8NktlzRhBwL
https://dl.doubtnut.com/l/_4oV6I6mNYoPW


Answer: A

Watch Video Solution

3.  is isoelectronic with

A. 

B. Kr

C. Ar

D. 

Answer: C

Ca2 +

Mg2 +

Na+

https://dl.doubtnut.com/l/_4oV6I6mNYoPW
https://dl.doubtnut.com/l/_OABOR9dMIhVd


Watch Video Solution

4. An atom of an element has electronic

configuration 2,8,1. Which of the following

statement is correct ?

A. The valency of element is 7

B. The element exists as a triatomic

molecule

C. The element is metalloid

D. The element forms basic oxid

https://dl.doubtnut.com/l/_OABOR9dMIhVd
https://dl.doubtnut.com/l/_lFuaKvtFPBK4


Answer: D

Watch Video Solution

5. The symbol of element with atomic number

Z = 109

A. UnP

B. Uns

C. Uno

D. Une

https://dl.doubtnut.com/l/_lFuaKvtFPBK4
https://dl.doubtnut.com/l/_rZPlOKi5iXiC


Answer: D

Watch Video Solution

6. Pd has exceptional valence shell electronic

configuration of . It is a member of-

A.  period ,group 11

B.  period ,group 10

C.  period ,group 9

D.  period ,group 16

4d105s0

4th

5th

6th

3rd

https://dl.doubtnut.com/l/_rZPlOKi5iXiC
https://dl.doubtnut.com/l/_uZXZCpZ3T7gg


Answer: B

Watch Video Solution

7. All elements in the third period have

A. Three complete shells

B. Three complete subshells

C. Three valence electrons

D. Three electrons less than octet .

Answer: B

https://dl.doubtnut.com/l/_uZXZCpZ3T7gg
https://dl.doubtnut.com/l/_snknVf5YPvWf


Watch Video Solution

8. Which of the following belongs to d-block

element?

A. 

B. 

C. 

D. 

Answer: D

[Rn]6d107s27p2

[Xe]4f 15d16s2

[Xe]4f 145d16s2

[Xe]5d16s2

https://dl.doubtnut.com/l/_snknVf5YPvWf
https://dl.doubtnut.com/l/_YwC1tyH5baF2


Watch Video Solution

9. The order of screeing effect of electrons of

 and  orbitals of a given shell of an

atom on its outer shell electrons is:

A. 

B. 

C. 

D. 

Answer: A

s, p, d f

s > p > d > f

s < p < d > f

s < p < d < f

s > p < d < f

https://dl.doubtnut.com/l/_YwC1tyH5baF2
https://dl.doubtnut.com/l/_E2Q1p3DVhfqr


Watch Video Solution

10. Which of the following sequences contain

atomic numbers of only representative

elements ?

A. 55 ,12 ,48 ,53

B. 13,23,54,83

C. 3,33,53,87

D. 22,33,55,66

Answer: C

https://dl.doubtnut.com/l/_E2Q1p3DVhfqr
https://dl.doubtnut.com/l/_EEiy5po7mWbE


Watch Video Solution

11. Which of the following pairs of atomic

numbers represents elements belonging to

the same group?

A. 11 and 20

B. 12 and 30

C. 13 and 31

D. 14 and 33

Answer: C

https://dl.doubtnut.com/l/_EEiy5po7mWbE
https://dl.doubtnut.com/l/_Fm5Tx7Wqg8ML


Watch Video Solution

12. Which of the following statements is

incorrect ?

A. The ionization potential of nitrogen is

greater than of oxygen

B. The electron affinity of fluorine is greater

than of chlorine .

C. The ionization potential of Mg is greater

than aluminium

https://dl.doubtnut.com/l/_Fm5Tx7Wqg8ML
https://dl.doubtnut.com/l/_LMASt2xFt9sO


D. The electronegativity of fluorine is

greater than that of chlorine

Answer: B

Watch Video Solution

13. Total number of elements present in 5 th

period of modern periodic table is

A. 2

B. 8

https://dl.doubtnut.com/l/_LMASt2xFt9sO
https://dl.doubtnut.com/l/_r13mFc2JEEvp


C. 18

D. 32

Answer: C

Watch Video Solution

14. The electronic configuration of the atom

having maximum difference in first and second

ionzation enthalpies is

A. 1s22s22p63s2

https://dl.doubtnut.com/l/_r13mFc2JEEvp
https://dl.doubtnut.com/l/_N2yJhONP4IJF


B. 

C. 

D. 

Answer: D

Watch Video Solution

1s22s22p63s23p1

1s22s22p63s23p2

1s22s22p63s1

15. Increase in atomic size down the group is

due to

A. increases in number of orbit

https://dl.doubtnut.com/l/_N2yJhONP4IJF
https://dl.doubtnut.com/l/_SZ3FHdTww6xo


B. increases in number of protons and

neutrons

C. increase in number of protons

D. increase in number of protons neutrons

and electrons

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SZ3FHdTww6xo


16. In which of the following pairs the radii of

second species is greater than of first ?

A. K, Ca

B. H, He

C. 

D. 

Answer: B

Watch Video Solution

Mg+ , Mg2 +

O2 − , O−

https://dl.doubtnut.com/l/_njig6tpZn986
https://dl.doubtnut.com/l/_zPhHmisa3Jbt


17. The successive ionization energies for

element X is given below 

 : 250 kJ  

 : 820 kJ  

 : 1100 kJ  

 : 1400 kJ  

Find out the number of valence electrons for

the elements X.

A. 3

B. 4

C. 2

IE1 mo− 1

IE2 mo− 1

IE3 mo− 1

IE4 mo− 1

https://dl.doubtnut.com/l/_zPhHmisa3Jbt


D. 1

Answer: D

Watch Video Solution

18. If you are given Avogadro's number of

atoms of a gas X . If half of the atoms are

converted into  by energy  . The IE of X

is

A. 

X +
g ΔH

2ΔH

NA

https://dl.doubtnut.com/l/_zPhHmisa3Jbt
https://dl.doubtnut.com/l/_h05jefFrOTC0


B. 

C. 

D. 

Answer: A

Watch Video Solution

2NA

ΔH

ΔH

2NA

NA

ΔH

19. Find the formula of halide of a metal whose

successive ionization enthalpies are x, 2x, 5x,

100 x kJ  respectivelymol − 1

https://dl.doubtnut.com/l/_h05jefFrOTC0
https://dl.doubtnut.com/l/_wo2Bfwl3JXAG


A. MX

B. 

C. 

D. 

Answer: C

Watch Video Solution

MX2

MX3

M2X

20. Which of the following equation

represents first enthalpy of ionization ?

https://dl.doubtnut.com/l/_wo2Bfwl3JXAG
https://dl.doubtnut.com/l/_hXFH4zvRQUmA


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Hg ( s ) → Hg+
( g )

+ e−

Hg ( l ) → Hg+
( g )

+ e−

Hg ( g ) → Hg+
( g )

+ e−

Hg ( g ) → Hg2 +
( g )

+ e−

21. The energy required to convert all atoms

present in 1.2 g. magnesium to  ions if IEMg2 +

https://dl.doubtnut.com/l/_hXFH4zvRQUmA
https://dl.doubtnut.com/l/_1vs8R4hwsF46


and  of magnesium are 120 kJ  and

240 kJ  respectively

A. 18 kJ

B. 36 kJ

C. 360 kJ

D. 24 kJ

Answer: A

Watch Video Solution

IE2 mol − 1

mol − 1

https://dl.doubtnut.com/l/_1vs8R4hwsF46


22. The process requiring absorption of energy

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F → F −

H → H +

Cl → Cl−

O → O−

https://dl.doubtnut.com/l/_ilo2tjyfAvU6
https://dl.doubtnut.com/l/_onL6TK7yUaGH


23. The least electronegative element has the

following electronic configuration

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ns2np5

ns2np4

ns2np3

ns2np6

https://dl.doubtnut.com/l/_onL6TK7yUaGH


24. Arrange the following elements in the

increasing order of metallic character: 

.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Si, Be, Mg, Na, P

P < Si < Be < Na < Mg

P < Si < Be < Mg < Na

Na > Be > Mg > Be > P

Na > Si > Mg > Be > P

https://dl.doubtnut.com/l/_SMLoas7qr5Xa


25. With which of the following electronic

configuration of an atom has the lowest

ionization enthalpy:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1s22s22p3

1s22s22p63s1

1s22s22p6

1s22s22p5

https://dl.doubtnut.com/l/_omIDlVa96r7n


Assignment Section C Previous Year Question

Paper

1. In which of the following options order of

arrangement does not agree with the

variation of property indicated against it?

A.  ( Increasing

metallic radius )

B.  (

increasing ionic size )

Li < Na < K < Rb

AI 3 + < Mg2 + < Na+ < F −

https://dl.doubtnut.com/l/_hud6w3LqHMxS


C.  ( increasing first

ionisation enthalpy )

D.  ( increasing electron

gain enthalpy )

Answer: C::D

Watch Video Solution

B < C < N < O

I < Br < CI < F

2. The species  and  contain the

same number of electrons. In which order do

their radii increase ?

Ar, K + Ca2 +

https://dl.doubtnut.com/l/_hud6w3LqHMxS
https://dl.doubtnut.com/l/_f1cfopn0X1KS


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K + < Ar < Ca2 +

Ar < K + < Ca2 +

Ca2 + < Ar < K +

Ca2 + < K + < Ar

3. Which of the following orders of ionic radii

is correctly represented ?

https://dl.doubtnut.com/l/_f1cfopn0X1KS
https://dl.doubtnut.com/l/_BfoiwNJXESot


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H − > H + > , H

Na+ > F > O2

O2 − > F − > Na+

AI 3 + > Mg2 + > N 3 −

4. Identify the wrong statement in the

following

https://dl.doubtnut.com/l/_BfoiwNJXESot
https://dl.doubtnut.com/l/_D5VSMhwnbDJ9


A. Atomic radius of the elements increases

as one moves down the fist group of the

periodic table

B. Atomic radius of the elements decreases

as one moves across from left to right in

the  period of the periodic table

C. Amongst isoelectronic species smaller

the positive charge on the cation smaller

is the ionic radius

2nd

https://dl.doubtnut.com/l/_D5VSMhwnbDJ9


D. Amongst isoelectronic species greater

the negative charge on the anion larger

is the ionic radius

Answer: C

Watch Video Solution

5. The first ionisation potential of  is .

The value of eectrons gain enthalpy of 

will be

Na 5.1eV

Na+

https://dl.doubtnut.com/l/_D5VSMhwnbDJ9
https://dl.doubtnut.com/l/_So5ThAMwChwb


A. 

B. 

C. 

D.  eV

Answer: C

Watch Video Solution

+2.55eV

+10.2eV

−5.1eV

−10.2

6. Which of the following represents the

correct order of increasing electron gain

https://dl.doubtnut.com/l/_So5ThAMwChwb
https://dl.doubtnut.com/l/_4hxIPWBX54rZ


enthalpy with negative sign for the elements

O, S, F and Cl?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CI < F < O < S

O < S < F < CI

F < S < O < CI

S < O < CI < F

https://dl.doubtnut.com/l/_4hxIPWBX54rZ


7. The correct order of decreasing ionic radii

among the following isoelectronic species is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ca2 + > K + > S2 − > CI − (2)

CI − > S2 − > Ca2 + > K +

S2 − > CI − > K + > Ca2 +

K + > Ca2 + > CI − > S2 −

https://dl.doubtnut.com/l/_al7l9qZjmQmv
https://dl.doubtnut.com/l/_XaP5L4IC5oQQ


8. Among the following Ca ,Mg, P and CI the

order of increasing atomic radius is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Mg < Ca < CI < P

CI < P < Mg < Ca

P < CI < Ca < Mg

Ca < Mg < P < CI

https://dl.doubtnut.com/l/_XaP5L4IC5oQQ


9. Amongst the following elements (whose

electronic configuration an given below) the

one having highest ionization energy is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ne[3s23p2]

Ar[3d104s24p3]

Ne[3s23p1]

Ne[3s23p3]

https://dl.doubtnut.com/l/_uza57evX0QFm


10. The correct order of the size is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ca2 + < Ar < K + < CI − < S2 −

Ca2 + < K + < Ar < S2 − < CI −

Ca2 + < K + < Ar < CI −S2 −

Ar < Ca2 + < K + < CI − < S2 −

https://dl.doubtnut.com/l/_D0qZNcJiReWm


11. Which one of the following arrangements

represents the correct order of electron gain

enthalpy of the given atomic species?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CI < F < S < O

O < S < F < CI

S < O < CI < F

F < CI < O < S

https://dl.doubtnut.com/l/_FmOlf5N10L2F


12. Which one of the following arrangement

represents the correct order of least negative

to most negative electron gain enthalpy for C ,

Ca , AI , F and O ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ca < Al < C < O < F

Al < Ca < O < C < F

Al < O < C < Ca < F

C < F < O < Al < Ca

https://dl.doubtnut.com/l/_6H54VIQVESFx


13. The electronic configuration of an element

is  . What is the

atomic number of the element which is just

below the above element in the poriodic table

?

A. 36

B. 49

C. 50

D. 54

1s22s22p63s23p64s23d104p2

https://dl.doubtnut.com/l/_6H54VIQVESFx
https://dl.doubtnut.com/l/_w4AFB43RnZjw


Answer: C

Watch Video Solution

14. Which of the following ion is the largest in

size ?

A. 

B. 

C. 

D. 

K +

Ca2 +

CI −

S − 2

https://dl.doubtnut.com/l/_w4AFB43RnZjw
https://dl.doubtnut.com/l/_RsUM8VRRZSP8


Answer: D

Watch Video Solution

15. The electronic configuration of inner

transition elements is

A. 

B. 

C. 

D. 

ns1

ns2np5nd10

ns0 − 2(n − 1)d1 − 10(n − 2)f 1 − 14

ns2(n − 1)d0 − 1(n − 2)f 1 − 14

https://dl.doubtnut.com/l/_RsUM8VRRZSP8
https://dl.doubtnut.com/l/_t8GE802UFuvf


Answer: D

Watch Video Solution

16. Which of the following has the smallest

size ?

A. 

B. 

C. 

D. 

AI 3 +

F −

Na+

Mg2 +

https://dl.doubtnut.com/l/_t8GE802UFuvf
https://dl.doubtnut.com/l/_tzMkqh2q1Euu


Answer: A

Watch Video Solution

17. Which of the following is correct order of

the size of aluminium species ?

A. 

B. 

C. 

D. All of these

AI > AI + > AI 2 +

AI 2 + > AI + > AI

AI 2 + = AI + = AI

https://dl.doubtnut.com/l/_tzMkqh2q1Euu
https://dl.doubtnut.com/l/_27NSXh83KtgL


Answer: A

Watch Video Solution

18. The first ionization potential (eV) of N and

P respectively are

A. 

B. 

C. 

D. 

8.29, 8.29

11.32, 11.32

8.29, 11.32

11.32, 8.21

https://dl.doubtnut.com/l/_27NSXh83KtgL
https://dl.doubtnut.com/l/_x9bXExSx6es3


Answer: D

Watch Video Solution

19. Correct order of 1st ionisationpotential (IP)

among following elements Be, B, C, N, O is

A. 

B. 

C. 

D. 

B < Be < C < O < N

B < Be < C < N < O

Be < B < C < N < O

Be < B < C < < O < N

https://dl.doubtnut.com/l/_x9bXExSx6es3
https://dl.doubtnut.com/l/_Sl9IXKPzEVGj


Answer: A

Watch Video Solution

20. An atom has electronic configuration

 . In which group

wouold it be placed ?

A. Fifth

B. Fifteenth

C. Second

D. Third

1s22s22p63s23P 63d34s2

https://dl.doubtnut.com/l/_Sl9IXKPzEVGj
https://dl.doubtnut.com/l/_QLlV6MkmJm4I


Answer: A

Watch Video Solution

21. Ionic radii are

A. Inversely proportional to effective

nuclear charge

B. Inversely proportional to square of

effective nuclear charge

https://dl.doubtnut.com/l/_QLlV6MkmJm4I
https://dl.doubtnut.com/l/_mRfIm317PwIU


C. Directly proportional to effective nuclear

charge

D. Directly proportional to square effective

nuclear charge

Answer: A

Watch Video Solution

22. Four successive members of the first row

transition elements are listed below with their

atomic number. Which one of them is

https://dl.doubtnut.com/l/_mRfIm317PwIU
https://dl.doubtnut.com/l/_C9KRNlTCH7yT


expected to have the highest third ionisation

enthalpy ?

A. Vanadium ( Z= 23 )

B. Chromium ( Z= 24)

C. Manganesc ( Z=25)

D. Iron ( Z=26)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_C9KRNlTCH7yT


23. The element with highest electronegativity

will belong to

A. Period 2, group 17

B. Period 3, group 17

C. Period 2, group 18

D. Period 2, group 1

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_iPUC0KlLFVfA
https://dl.doubtnut.com/l/_RfZxASl3KWXb


24. The first second and third ionisation

energies of AI are 587 , 1817 and 2745 kJ 

respectively . Calculate the energy required to

convert all the atoms of AI to  present in

270 mg of AI vapours

A. 5149kJ

B. 51.49 kJ

C. 2745 kJ

D. 514.9 kJ

Answer: B

mol − 1

AI + 3

https://dl.doubtnut.com/l/_RfZxASl3KWXb


Watch Video Solution

25. The size of ionic species is correctly given

in the order

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na+ > Mg+ 2 > CI + 7 > Sj4 +

Na+ > Mg+ 2 > Si4 + > CI + 7

CI + 7 > Si+ 4 > Mg+ 2 > Na+

CI + 7 > Na+ > Mg+ 7 > Si+ 4

https://dl.doubtnut.com/l/_RfZxASl3KWXb
https://dl.doubtnut.com/l/_nYDIyIINjbJT


26. Match the following regarding nature of

the oxides 

A. a(ii) , b(i) , c(ii) , d(iv)

B. a(iv) , b(i) , c(ii) , d(ii)

C. a(iv) , b(i) , c(ii) , d(iii)

D. a(ii) , b(i) , c(iv) d(iii)

Column-I   Column- II

a. H2O (i)Basic

b. Na2O (ii)Amphoteric

C. ZnO (iii) Acidic

d. SO3 (iv) Neutral

https://dl.doubtnut.com/l/_nYDIyIINjbJT
https://dl.doubtnut.com/l/_Bw28vgmXci8x


Answer: C

Watch Video Solution

27.  is isoelectronic with which of the

following ions ?

A. 

B. 

C. 

D. 

Be2 +

H +

Li+

Na+

Mg2 +

https://dl.doubtnut.com/l/_Bw28vgmXci8x
https://dl.doubtnut.com/l/_BjCe9WRbbas8


Assignment Section D Assertion Reason Type

Question

Answer: B

Watch Video Solution

1. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

A: Be and AI show diagonal relationship . 

https://dl.doubtnut.com/l/_BjCe9WRbbas8
https://dl.doubtnut.com/l/_lq1sl6UtJkgG


R: Be and AI are diagonal to each other in the

periodic table .

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

https://dl.doubtnut.com/l/_lq1sl6UtJkgG


D. If both Assertion and Reason are false

statements then mark (4)

Answer: B

Watch Video Solution

2. Assertion: The first ionisation energy of

aluminium is lower than that of magnesium. 

Reason: The ionic radius of aluminium is

smaller than that of magnesium.

https://dl.doubtnut.com/l/_lq1sl6UtJkgG
https://dl.doubtnut.com/l/_stTJpt20JxRH


A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

https://dl.doubtnut.com/l/_stTJpt20JxRH


Answer: B

Watch Video Solution

3. Assertion (A) : He and Be have similar outer

shell electronic configuration of type . 

Reason (R ) : Both are chemically inert.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

ns2

https://dl.doubtnut.com/l/_stTJpt20JxRH
https://dl.doubtnut.com/l/_3sZJeEHOVQHd


B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3sZJeEHOVQHd
https://dl.doubtnut.com/l/_yV5tC7dxbqXn


4. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

A : Electron affinity of oxygen is higher than

suiphur. 

R : Number of valence orbitals containing

electrons are different.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

https://dl.doubtnut.com/l/_yV5tC7dxbqXn


B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yV5tC7dxbqXn
https://dl.doubtnut.com/l/_dDQPNw3DQtlq


5. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

A: Ionization enthalpy decreases on moving

down the group . 

R: Force of attraction between nucleus and

electrons decreases on moving down the

group.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

https://dl.doubtnut.com/l/_dDQPNw3DQtlq


B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_dDQPNw3DQtlq
https://dl.doubtnut.com/l/_ZiPax3rWLQAo


6. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

A : Atomic radii decreases in a period upto

halogen . 

R : van der Waal radii of CI is larger than its

covalent radii.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

https://dl.doubtnut.com/l/_ZiPax3rWLQAo


B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ZiPax3rWLQAo
https://dl.doubtnut.com/l/_Fjf8QQGJpBuW


7. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

A : Lanthanum ( Z: 57) is lanthanoid . 

R : Valence electrons are present in 4 f orbital.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

https://dl.doubtnut.com/l/_Fjf8QQGJpBuW


of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Fjf8QQGJpBuW


8. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

A :  is more basic than  . 


R : Sodium is less electropositive than

aluminium.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

Na2O AI2O3

https://dl.doubtnut.com/l/_dUZDP9vLCPlQ


B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dUZDP9vLCPlQ
https://dl.doubtnut.com/l/_KcxS0XDvm0sN


9. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

A : F is most electronegative element of

periodic table. 

R : CI is having highest electron affinity.

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

https://dl.doubtnut.com/l/_KcxS0XDvm0sN


B. If both Assertion & Reason are true but

the reason is not the correct explanation

of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KcxS0XDvm0sN
https://dl.doubtnut.com/l/_6dC0IHxF1kyL


10. In the following questions a statement of

assertion (A) is followed by a statement of

reason ( R) 

A : Cu, Ag, Au are known as coinage metal. 

R: Coinage metals are d-block metals .

A. If Both Assertion & Reason are true and

the reason is the correct explanation of

the assertion then mark (1) .

B. If both Assertion & Reason are true but

the reason is not the correct explanation

https://dl.doubtnut.com/l/_6dC0IHxF1kyL


of the assertion then mark (2)

C. If Assertion is true statement but

Reason is false then mark (3)

D. If both Assertion and Reason are false

statements then mark (4)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6dC0IHxF1kyL

